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1 ASY 400 B

Wouy1s: 0% 4-6 100U

10 ASL = 3.500 B (nsoa: 350 B)

20A50 = 6,000 B (Asva: 300 B)

1,500 B x 4 100U
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Wou¥1s: 0% 4-6 100U

60 JU (21dou) = 4,800 B (doua: 2,400 B)

1,200 B x 4 100U

leO U (51dou) = 11,250 B (doua: 2,250 B)

1,875 B x 6 102U /

sUNAISAEIUISANNIS Woudis: 0 % 14

© 00009

s.nsvlng s.ndns  s.Ingwiisg

S.NSVINW  S.BGIUYA

(Sudvnd 1 u.a. 67 10udull)



churairat
MUAY THAI

S1ANANISYU Private » naaudglng

AANEAD02ad (Private)

RguAsva: 1 51U

HUYIY dU19NIN

Wouv1s: 0% 6-10 1a2U

S1YASY

1 ASL

750 B

10ASYL = 6,800 B (nsoa: 630 B)

30 ASO = 19.500 B (nsva: 650 B) 3.250 B x 6 160U
50 ASO = 25.000 B (Asva: 500 B) 2.500 B x 10 1doU
100 ASY = 48,000 B (ndoa: 480 B) 4,800 B x 10 1dou
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/ AQANAWIAY 2 NTU
s19ASL * S1ANGD 1 AU

10ASL = 5,500 B (asva: 550 )

HUYINY du1gnNI

Wouy1s: 0% 4-6 1QoU

1,375 B x 4 100U

30 ASO = 15,900 B (Asva: 530 B)

2,650 B x 6 109U

@ ASH = 26,000 B (Asva: 520 B)

4,333 B x 6 100U /

/ AANEAWIAY 3 N1U
s19ASL * ST1ANGD 1 AU

10 ﬂS:\) 5,300B (ASva: 530 B)

HUYINE durgnNIN

Wouy1Ss: 0% 4-6 102U

1,325 B x 4 109U

30 ASO = 15,600 B (Asva: 520 B)

2,600 B x 6 109U

@ ASY = 25,000 B (Asva: 500 B)

4,166 B x 6 100U /

/ AQANAWIFY 4 NU
S19ASL « S1ANGD 1 NN

10 ASL 5,000 B (Asva: 500 B)

HUYY1Y dU18NIN

Wau¥1s: 0% 4-6 1QoU

1,250 B x 4 100U

30 ASO = 14,400 B (nsva: 480 B)

2,400 B x 6 109U

@ ASL = 23,000 B (asoa: 460 B)

3,833 Bx 6 102U /

/ AQNAWIFUY 5 NU
s19ASL * S1ANGD 1 A

10ASL = 4,800 B (Asva: 480 B)

HULINY dulIgnNI

Wau¥1s: 0% 4-6 1QoU

1,200 B x 4 100U

30 ASL = 13,800 B (Aoa: 460 B)

2,300 B x 6 102U

@ ASL = 21,000 B (Asva: 420 B)

3,500 B x 6 102U /
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